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BBA 2nd Semeaster Exam., 2018

BUSINESS MATHEMATICS AND STATISTICS

Time - 3 hours Full Marks . 60
Instrucions .

i) All questions carry equal marks.

(i) There are SEVEN questions in this paper.

(itij Attempt FIVE guestions in all.

(iv) Question Nos. 1 and 2 are compulsory.

1. Choose the correct option of the following (any

s
faj 1f " Cj5 =" Cg, then the value of n is
i 12
fii) 14
fiii) 16
(iv} 18

(b) Out of 7 consonants and 4 vowels, how
many words of 3 consonants and 2 vowels

can be formed?
(i) 24400

(i) 21300

i} 210

fiv) 25200

IAK/487 ( Turn Over )

()

(d)

(e

8AK/487

From a group of 7 men and 6 wﬂmﬁ'h
persclns are tCl bt Scltcl!d tu rﬂ[-
committee so that at least 3 men are the,
the committee. In how many ways cap

done?
() 624

fiij 702
(iii)) 756
(iv) 812
In how many different ways can the lett

the word ‘MATHEMATICS’ be arranged.
that the vowels must always come togei:

(i) 9800

(i) 100020
(iii) 120960
(iv) 140020

A coin is tossed 3 times. Find ou
number of possible outcomes,

il 1
(i) 8
(iii} 2
fiv)] None of the above
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(3)

(! The number o
f elements i
AS) of the set §= 1@, 13 IIII; t;rl?:wer set

(ijj 2
(i) 4
(iii) 8

{iv) None of the above

(g 1f Aand Bare sets and AuB = An B, then

i A=0
(i) B=®
(iiij A=B

(iv) None of the above

(h) 1f X and Y are two sets, then Xn(Yu X)C
equals

M X
{ii) Y
fiii) ®
{iv) None of the above

(i If f: XY and a bgc X, then flanb is

equal to

@ fla-fb

@ f@nfo
fiii) a proper subs
(iv) f-fa

et of fl@n f

fmmover."

8AK/487
i

(4)

Fifth texm of sequence a’ =2me3

i1
' 11
i 13
2. Arswer any three e 00S of the g‘)h‘_u

faj Compate

Sx* -8x-13
him
£—3 x* -5

bj Deterrmune f the folowng funcuce
~ontinuaous at x =1
3x-5 f x=1
2, f x=1

fig=-

ic) Differentiare

y=v13x?-5x-8

d)y Integrate

I x? e3* dx
fe) Find the number of terms in the senc
R 12 16,72
3. Integrate

fRx+5)1x? 597 ax
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(5

A\ open rectangulgy box with

from a8 12 Square base ig tg
ma . of material, What
.mm_uamns will result In 8 box with the lar

possible volumey =

w made

Find .the number of words, with or without
meaning, that can

be formed with the letters of
the word ‘CHAIR'.

In how many ways can a committee of 1 man and
3 women be formed from a group of 3 men and 4

women?
fa) Find 1+12+14 +18+-. o,

(b) If a, b, c are in GP and x, y are AMs between
a, b and b, ¢ respectively, then prove that x,
b, y are in HP.
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